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1 FEEEERBURS (1.2.1) (HAr )
=S o2 AKFUER LS AR
+ Hi 6, 031, 400, 807 27, 503, 307 6, 003, 897, 500
e = 5,616, 458, 428 314, 629, 828 5, 301, 828, 600
& H & pE 1, 508, 185, 362 659, 562 1, 507, 525, 800
& t 13, 156, 044, 597 342, 792, 697 12, 813, 251, 900
AN 2GS 64, 235 N
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ES o2 AR A RS AH AR
+ Hh 1,671,721, 854 5,651, 954 1, 666, 069, 900
£ = 1, 002, 757, 120 11, 082, 020 991, 675, 100
& t 2, 674, 478, 974 16, 733,974 2, 657, 745, 000
SANBIFEH A H63, 244 N
3 EAEEEEIETIA RS (1.2.2)
RATFRERE 366, 830, 800H
4 ABFGRERAERIT - BESRG (13.2.1) (Hhr )
X 53 %
AERAE AT 11, 287
M B % 1,818




